Algebra 1

8.1 Quadratics & Translations
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Make a sketch of each parabola. Then state the domain, range, vertex and axis of symmetry.
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Describe the transformation from parent function, f(x) = x2.
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Each parabola described is the parent function f(x) = x2. Write the equation for each parabola.

10. The parabola g(x) is translated left 3 units and up 9 units. ‘j - ("\"' 3)7 v 9
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11. The parabola h(x) is reflected over the x-axis and translated right 8 units. ‘3 - -"()t"%}

12. The parabola k(x) is vertically dilated by 4, translated right 7 units, and up 2 units.
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Write the equation of the transformed quadratics.
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